Jindal Vidya Mandir, JSW Hill Side Township

Jindal Vidya A Weekly Test_ 1(2024-25)

Class: IX Duration: 45 min
Sub: Science Max Marks: 20M

General Instructions:

o The question paper consists of 2 pages and 13 questions
o All questions are compulsory

I. Fill in the blanks: 5X1M=5M

s
2.

m

With increase in temperature, particles move

The density of sand with a mass of 208 g ejecting a volume of 80 mL of water
is .

The invention of led to the discovery of microscopic world.
A type of motion that repeats itself after equal intervals of time is called

was the scientist who first discovered the nucleus.

Il. Answer the following: 6X2M=12M

6.

An athlete completes one round of a circular track of diameter 200 m in 40 s.
What will be the distance covered and the displacement at the end of 2
minutes 20 s?

Draw a neat labelled diagram of a compound microscope.

Describe the physical characteristics of matter.

Who proposed the cell theory ? What are the three main concepts of cell

theory ?

10.What is distance and displacement ? When do the distance and displacement

of a moving object have the same magnitude?
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11.The data regarding the motion of two different objects A and B is given in the
following table. Examine them carefully and state whether the motion of the
objects is uniform or non-uniform.

Distance | Distance
travelled by travelled by
object Ainm | object Binm
9:30 am 10 12
9:45 am 20 19

10:00 am 30 23
10:30 am 50 37
10:45 am 60 41
11:00 am 70 44

IV. Give reason for the following statements: 2X1.5M=3M
12.Generally liquids are less denser than solids, but ice floats on water.

13.The smell of hot sizzling food reaches you several meter’s away, but to get
the smell from cold food you have to go close
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Jindal Vidya

Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test - 11 (2024 - 25)

Class: IX Duration: 45 min
Subject: Mathematics Max. Marks: 20 marks

General Instructions:

This question paper consists of 1 page with 3 main questions.
All questions are compulsory.

8.
9.

10. Prove that:

Fill the blanks : 1X3=3

is the simplest rationalising factor of v50.
815 + 44/3 =

The degree of polynomial %(\/gxlo +x8—7x)is

Do as Direct 2X4=8

Express 10.48 in the form of%.

2
Simplify: (2V3 + V2) + 324
Find the Zero of a polynomial p(x) =a x + b.
Give one example each of a linear binomial and quadratic trinomial.

Answer the following 3X3=9

6 — 42
6+4v2'

1
Rationalise the denominators and simplify: T

Locate V4.2 on a number line.
(xa+b)2 (xb+c)2(xc+a)2

(xaxb xc)4

Page1of1



2N



Jindal Vidya Mandir, JSW Hill Side Township

(2 W

Jindal Vidya  Mandir weekly Test'3 (2024_25)
Class: IX Duration: 45 min.
Sub: Hindi (Il Lang) Max Marks: 20
=g fAda-

° Hﬁu%%mﬁm%—
o Ui AT T 3rsg W 1 foRiy ear &-

uy 1. FafieT ufed meim o) s ue o vl 1 IR difvre- 5x1=5

SR BT TH TR 3 TR [T &5 & T H Ifok] o1 Ueh o] 6% ekl 810 € | SR T Tored e & b
BHAR 1Y 4R 81 1 9 B T T d 811 | ATHIY ) T 971 & 170 4R 7 31fRId 977191 717 1| 59 -7y
TR B BedA HI B T o FRA }1 Tia F off A7 I U10 A1 T 1 A R G| T YR W I
AT YeIDT ST 7T 3 | HUI-H01 & IGebT FaT AT 711 § | Ay IR Fiaor vt & g vt 1 vt wid o
3MILYHAT A 8 BTl ST SMYR TR 3R B e 1 T8 3R T THR SAHAd FT AT 5 BT 03 8y W)
TRET STeH & AT I 3t ff Hou=1 31 S| 85 WY 30 HRT— AT &1 S T 3 391 B Ui | 38 Uiy
@I 30 S A 31 =S I 3| 98 fFat aR Fed- RS B R 98 yrard! < af fom = & 7 urdh) AR v
P Bl I8 WHd Bial § | 98 Y R R 781 el eep fegelrell & | 50 HRUT SRIeR BT & @) 32 | THelal 81U 31T
1 R ST Ad---— YS! IR T BB 31 Ty shieft 7 83 | Srvheiell UR HeRTahs a1 FRTY B Ae By
YT | 3O BT SRISR 37 §gT 8 | S IeH X & URYERT T80 & FRaR 3T Hed &1 & 399 2 § 2wy €t
S 1 ST B & UT ST A

1. HHTY 3T BT BT HRUT B8 T & 2

() SR BT (@) gHi B (T) SUTg BT () UuReT B
2. T &1 Y — T b1 82

(P) 3P 0 HH (9) I 304 HH (TT) ST g1 FR7ef (€) ST AT I
3. SR IFIT I PITS 8 2

(o) BH BHN TR S ¥ A & forg | (@) B qUg B 1 Hed 9HSH & Rl

() & 1T H 3y w31 R & feru| () Sita H SR-83 B 31 dg & T
4 A THRIAST NG ? ,

() 3 o fore R 3R B | (@) FHAd SR-IR TRA & Frerd 21

() SO 8] Held TR I ¢ | (&) R & fo1T ST sawaes B |

5. TR | gEe favar mar g —
(@) YHaTE BT () SHRATE BT (TT) HTTraTE 7| () HHATE BT
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2. Fafafad srsal § 9 SRS & S v aTer Wsg gfu--

() TS (%) TR () Srfeft (®) Far
3. TE@ Veg H HI-IT Uegg TaNT fbar a1 8-

(P) ed (M@ o () de (|) d
4. 3BT Ueg & DHI-TT U g ?

(@) A (@) 3 (T 31y (|) 31
5. ¥ gd g WR e o & o X HT TR H [Har o g ?

(@) ud () T MY (8 Y

uy 1. Fafaea ugl & 3<% 30 9 40 TTeal A forf@g-
1. TSDH P! q9M & W gfear df - F1-a1 IUT favd 2
2. STGIR & AN VRSl sAaTel il & aR H F1-51 $g g A ? 30 sal J faaRau |
3. TGS - FfQTT & G BT TS Y TN ?
TY Iv. “HRA H 916 Hoigel &t auar fawg R faw e dda figsh & omur w e fafau)
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o SIEHUIGH BT oY
o S HOIGH & PRI
o T UG B g HRA & U
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Page 2 of 2

5x1=5

3x2=6

1x4=4



Jindal Vidya Mandir, JSw Hill Side Township

Jindal Vidya Mandir

Weekly Test — 3 (2024-25)

Class :IX _ Max.Marks : 20
Subject : Il Lang. Kannada Duration : 45 Min
1. 83 39N N enR)Y, 2dER0RB) F0033 LVITBY, 203X0. 5x1=5

233,0 Bee3a WITID 28,9 B3 080WBB3e. 2,080 2,08 De3ad Q) WemRoDRY 3PBNEARBT
©30R BRREIN WemodBIedn 3 FBeEN30Y. B3 Sad 3DI0H WemeadBIY, ISR
0B emco')’eéﬁe edaden). o 33;99 A% 03I 23R T B0, F02005 BeoRTeedowncde
B100BNOD J0DF0INR). estie €933 ééfa RO IVBD FR@. o éé@d@ CTN O VIRAGRIOW AT
©YBRIN 02 50060 BAINGT 3R I VR, eI3e3 DTN FH0DNR). RAFOSCHN DI
Bea3eaniRRed 1} RowIDRWY eI Be3C08% 333 DR 23 DIV 30n8cewr SBchelemd ez woen
259, 3 BRI, NFZoDHE 3O DR3F). HBBI0DN 3, DeoeBeodn @m0 BS) HSERRYFTR
@301 ANZRR HTESe sgﬁ. 2eNZ 2IRRNE BT A Beoodhd Dy BodRYeR DR IVIRIY
asmaag@ﬁe}dg‘ 3’333 COIALY d}@daﬂe@doaod 93071 /BT 9233 AHBR).

1. asegd AARCBTI 20TV DFED -

2.503,50 e300 RoAR FHpoHBY HARRYBFD 9301 AR - Q3
3. 39803 39E0HE) emHBJ), LITRIRRR eugdedaSe 23edadenay.
4. 9D 339@ ——————————————— 2R3N B BRES BoWoE BRoHTLeR o2nce FPoB0D
030N
5. @93E T ;)ag, I3 BIBRBIY - 3DNR .
1.83 84N 2063, LML), 3002D. 5x1=5

100,230,383 BB BoPR SVEPBOE
(i) e o) (i) e223e3 B0 (ii) RREIE DEE B0 (iv) e o
2 AR e BOD 33 BRBIY, DB ISR

() RROJE+VBAD (i) RAT+ LVBOD (ii) RAODE S +eBOD (iv) ORI 9
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3. B0mYD ‘33 BRROS T3 €583 -
0= i) © (ii) £9.
4153083 B3, 2,00 VTIOR3
() 0DS (i) &308,9 (i) B3B3 230N
5:5orb GoNs B3 BRRER eraR,B €983 -
() So @ iy A\
183 3N B 3,191 2TR-2ed) w30gRSE) GVZ0RD.
1.230DRTEA Dedd B RINT FP0BWODE DI, Ve .
2.3 Q03B BB NRINLeR D0 &2BRTIT?
V.83 33NI BRI FoBE B3 D30
1. 365333 RoBed gosSad I3 Supmen Hedgkdodededed
2. RoBdR3 SorboechSe

V.33 89N3 BB 0t &8 GRS eZ0R0.

iv) 333D

Gw§

2x2=4

1.5x2=3

1x3=3

1.9023¢3 23693 3 2ed) 90333 €93DI0D 2.FI0MED Benady K)daéde (1] asaé?sﬁe}e:) 208000.
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=l A ' Jindal Vidya Mandir, JSW Hill Side Township

Jindal Vidya  Mandir Weekly Test-4 (2024-25)
Class: IX Duration: 45 minutes
Sub: English Max Marks: 20

General Instructions:
o The question paper consists of 3 pages and 4 questions.
o All questions are compulsory.

. Read the following passage and answer the questions that
follow: (5x1=5)

Data from satellite sources assembled by the United Nations Environment
Programme’s (UNEP) World Environment Situation Room confirms that the
wildfires in Australia in the last two months of 2019 and the first six weeks of
2020 were far from normal. 2019 was the second hottest year on record since
1880, and Australia recorded its warmest temperatures ever in December
2019.

“Rising temperatures continue to melt records. The past decade was the
hottest on record. Scientists tell us that ocean temperatures are now rising at
the equivalent of five Hiroshima bombs a second. One million species are in
near-term danger of extinction. Our planet is burning,” says United Nations
Secretary-General Anténio Guterres.

- “The trend is very clear: 37 of the last 40 years were the warmest recorded
since 1880, and the six warmest years recorded were the last six years,” says
Pascal Peduzzi, Director of UNEP’s Global Resource Information Database in
Geneva. “For those who think Australia is always burning, graphs clearly show
that these fires were exceptional.”

“This service, accessible via the UNEP’s World Environment Situation Room, is
provided for all countries at national and provincial levels. It identifies trends in
wildfire activity since 2003, when the data first became available and
monitoring began. We have sliced and diced the satellite-based data on
wildfires worldwide from 2009 to the present day. We analyse the wildfires’
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data by month, type of land cover, protected area, province and nation to
produce information products,” Peduzzi adds. (Source: UN Environment)

Choose the correct option to answer the questions based on the above passage.
(A) What do the reports confirm about the 2019-20 Australian fires?

(i) the fires were not normal (i) the fires were normal

(iii) the fires were natural (iv) data inconclusive

(B) Choose the option that lists the CORRECT answers for the following:

(a) “Rising temperatures continue to melt records. The past decade was the
hottest on record. Scientists tell us that ocean temperatures are now rising at the
equivalent of five Hiroshima bombs a second”.  Whose statement is this?

(b) “The trend is very clear: 37 of the last 40 years were the warmest recorded
since 1880, and the six warmest years recorded were the last six years.”
Whose statement is this?

(i) (1) is from United Nations Secretary and  (2) is from the UN President

(ii) (1) is from the UN Presidentand  (2) is from the UN General Secretary

(iii) (1) is from United Nations Secretary and (2) is from the Director of
UNEP

(iv) (1) is from the UN General Secretary and  (2) is from the UN President

(C) Choose the option that lists the correct statement.

(i) Pascal Peduzzi is the Director of UNEP’s Global Renaissance Information
Database

(ii) Pascal Peduzzi is the Director of UNO’s Global Resource Information Database
(iii) Pascal Peduzzi is the Manager of UNEP’s Global Resource Information

Database
(iv) Pascal Peduzzi is the Director of UNEP’s Global Resource Information

Database

(D) Which word in the passage means the same as “collect”?

(i) assembled (ii) extinction (iii) exceptional (iv)provincial
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(E) UNEP’s World Environment Situation Room has been tracking the world
temperatures since.

(i) 2003 (i) 2013 (iii) 2010 (iv) 2012
Il. Read the extract given and answer the questions. (3x1=3)

“Two roads diverged in a yellow wood,
And sorry | could not travel both

And be one traveller, long | stood

And looked down one as far as | could

To where it bent in the undergrowth.”

1. Why does the poet feel sorry?
2. Why could he not travel both the roads?
3. What is the mood of the poet in these lines?

lll. A. Answer the following questions in about 30 words: (2X2=4)

1. Why did Margie’s mother send for the County Inspector? What did he do?
2. How does Tommy describe the old kind of school and the teachers?

IV. A. You are Sahana/ Swayam, the librarian of JHS School. Write a Letter to the
publisher ordering books for your school library. (1x4=4)

IV.B. Do as directed: (4x1=4)

1. The boy speaks the truth. (change into Present Continuous Tense).

2. | have finished my assignment. (change into Past Perfect Tense).

3. Bharat ate all the cookies. (change into Present Perfect Tense).

4. Sujana went to school yesterday. (change into Future Continuous Tense).
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-5(2024-25)

Class: IX Duration: 45 minutes.

Subject: Social Science Max. Marks: 20

General Instructions:
1. This question paper consists of 13 questions.
2. All questions are compulsory.

I. Choose the correct option for the below given multiple choice questions. 5x1=5
1. When was Louis XVI executed?
a. 1789 b.1791 c. 1792 d. 1793
2. Who wrote an influential pamphlet ‘What is the third estate’?
a. Mirabeau b. Abbe Sieyes c. Jean Paul Marat d. Luis XVI

3. Louis XVI was sentenced to death on the charges of .
a. misuse of power b. cruelty c.treason d.incapabilit
4. Assertion: Elections in India are democratic.
Reason: People have to choose the ruling party and the candidates approved by it.
a. Both A and R are correct and R is the correct explanation for A.
b. Both A and R are true but R is not a correct explanation for A.
c. Ais correct but R is wrong.
d. Aiswrong but R is correct.
5. The present central government of India is the coalition of
a. NDA b.BJP c.UPA d. TDP
Il. Answer the following questions in brief. 5x1=5
6. Define referendum.
7. Name the women'’s club established by Olympe De Gouges?
8. Define ‘substance crises’?
9. What was the main issue in Zimbabwe?
10. Who did the coup in Pakistan?

lll. Write according to the chronological order. 1x2=2
11.Discuss the role of middle class in the French revolution?
Or
Explain the broader meaning of democracy.
IV. Answer the following questions in 80 to 120 words. 2x4=8

12.French revolution was not just an incident’. Analyse the statement with the events
and processes.
13. Explain the merits and demerits of democratic government.
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-6(2024-25)

Class: IX Duration: 45 min
Sub: Science Max Marks: 20M

General Instructions:
« The question paper consists of 4 pages and 13 questions
« All questions are compulsory

I. Fill in the blanks: 5X1M=5M
1. The concentration of solution having 40 gm of NaCl salt in 320 gm of water is

2. Tyndall effect in colloids is due to of light.

3. The mass of the body , when force of 525 N acts on it to produce an acceleration of 3.5
2.
m/s” is

4. The site that plays a crucial role in detoxifying many poisons and drugs in the liver cell
is .

B permits the cells to withstand hypotonic external media without bursting in
fungi.

Il. Answer the following questions:

6. Differentiate between colloidal solution and suspension with examples. 2M
7. What is ‘Tyndall effect’? Identify from the following which shows the Tyndall effect.
Salt solution, Milk, Copper sulphate solution, starch solution,

blood. 2M
8. When a carpet is beaten with a stick , dust comes out of it
Explain. 2M

9. A hammer of mass 500 gm, moving at 50 m/s, strikes a nail. The nail stops the
hammer in a short time of 0.01 s. What is the force of the nail on the
hammer? 2M

10. State and derive the mathematical formulation of second law of motion

2M
11.Compare and contrast the cell wall and the plasma membrane by listing fourkey
differences between them. 2M

12. What will happen to the cells if Rheo leaves are dipped in sugar solution? 1M
13. Write two points about how endoplasmic reticulum is important for membrane
biogenesis. 2M
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ndalVidgn | Mandi Jindal Vidya Mandir, JSW Hill Side Township

Weekly Test - VII (2024 - 25)

Class: IX Duration: 45 min
Subject: Mathematics Max. Marks: 20 marks

General Instructions:

This question paper consists of 2 pages with 3 main questions.
All questions are compulsory.

Choose the correct answer: 1X5=5

1. The points (-3, 4) and (4, -3) are in .

(a) same quadrant (b) I'and 1l quadrants respectively
(c) and IV quadrants respectively  (d) IV and | quadrants respectively
2. The perpendicular distance of a point from x — axis is known as

(a) abscissa (b) origin (c) ordinate (d) quadrant
3. The point of the form (a, -a) always lies on . (where, az0).

(@) x — axis (b) y —axis (c)y—x=0 (d)x+y=0

4. The equation 2x — 5y has solutions.

(a) zero (b) one (c) two (d) infinite

5. The equation of x — axis is given by

(@Q)x=y (b)y=0 (c)x+y=0 (d)x=0

Do as Direct 2X3=6

6. Write the abscissa and ordinate of the points (5, -9) and (-7, -m).

7. Write the coordinate points of school,

library, hospital and police station.

Schoo

(2%}

Hdspital

w

=
Y

Police statior
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8. Find the value of ‘K, ifx=2,y = —% is a solution of 2x + 3y = k.

Il Answer the following

9. Plot the points P(-3, 0), Q(2, 4) and R(-3, 4) on a graph. Find the area of the figure
enclosed them. [4m]

10. (i) Find the three solutions for the equations 2x +y—7=0and x+ 3y—11=0.
Draw the graphs of the equations and find the point of intersection.

(ii) Assertion: (2, 3) is a solution of x + 3y — 11 = 0.
Reason: Every point lying on a graph is a solution.

a.) Both Assertion and Reason are correct and Reason is the correct
explanation for Assertion.

b.) Both Assertion and Reason are correct and Reason is not the correct
explanation for Assertion.

c.) assertion is true but the reason is false.

d.) both assertion and reason are false. [5m]
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]lndalk Vidya >Mandir
' Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test- 8 (2024 - 25)

Class;IX M.Marks;20
Subject: Kannada (Il Lang) Duration:45 min

1.8 TR Te83,0re3 N NS, L, FYNS FF,NOR 3000 038 208M0.
4X1=4
DTEL,PTIT 3T, DTFPBT TetT, DTPT,L), B, LPANIEY  SROD GBI, B w303 0T,

ey B0DI, 3V0NAIZE, DS, AedT0%, TG, TTR,TS RePH30H TR eNTY) S8 3T FoTI3y,
& AOBVYT AOTFEHW Tone WoRIMN  Hony3eoNRRIRD 0T BABMEOFTRING. ReDBE 03
BFBBRONE), FEDFE 53583, TR OB BOOTT BPLRTT, Tone dFTT e, R TOeChINEE).
NOBCEIE 20TVBT TBRODTLOT) WFONI aDIY, LR FE3ONTY, eNLRRIT H9IN3s3 A, BRA WBOIINY
ABING $SpEFING 2023, ITARIT 2B BRT ByR,BeS B3FRIEE), eH0mn 23XTNE.  IBR0=,.00
FPROMDVNFDT e300 BTN TR TNTEY BI,NY DO Wi, RIS NREO3 Toorddd XTaeT
93,08 SAY, 3%A Taast3;03 12 e 2003 O “LIROTNEFT DSES,53" 0T RACRD e300 =3
ORI, DT BN TRTTID, ST 3633 N@BISEBT).  TRWEX Tocw BOIDOT Tovss
TOIWITH eT,¥ BW,NT TetS Tore FOFPNP, SHMenet A 0T,Y BJ,NY 90y, BN, AOCTH
BT, FOORE TENNFR, Bedd),TRF,LONT . 195036, e0TY B, N 2 eCRE esAII).

RF, N -

1) QAF,RO0FOD DR MONPI)d)?

2) DBY BB,AY 207,300, BN B BRL,TONS?

3) ADFE DTY WFTBR 03500 0303) FToTBeaTrHITVT?

4) T, BLEITS), 035030 VB3 B0:0eY) LIPONIEHTI?RINEY) WTITHTI) ?

I. A&, 3. LNFT), ID0E IWAL 0T Jpeas eHodd:-- 4X1=4

1." 20T, ITNIOHE), HPI) MIBRBECH 330, BBEDR" B w0TE).Bes RO B, D BIDAD

2. 85 200TE3C), AOWV; WO T, MITISR " Jie PDOH 23P7, 5083 MOER ¥R, REHTY"
3." 3T HOT® PTF LI0IB €300 BWROGE N, ACIRITHT) e38/CN T, BoDTTeNS "S8
2973 3353 FToT 0LFT BLadmdd, MITISR 2080,

4." 29,0 B3 0N, YTE3 BOWRET FOTION) 9808 BRGB, FOTDOING" S 50T5E¢). B33 FOD
BPIS,I B2 BIOID
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ll. B083,0083 BeLBR BOBBPF B3 70,0753, WSND. 1X3=3

17235033 303¢ T, LIRDADALLTOTS edvorie”

IV. 88 FYNS R3,19NR 34 DT NY¥S). ev3 DI ? 1X3=3

1. “ 5O 9338 CapOT R~ €933 LILER,BIN e300 TE), D BLLTTH?.

V. 88 FY¥NS 00) 0B TR 20T LDRODTNY, TDI3) F00RPR), WB0ND. 1X3=3
1,003,003 dFo D3N, (NEP) e3503,) 20RO a0TB3,.
2. JDsDENY 2RI TE), DA 20B3,

VI AN, ROBRDT AF® .e30°%. DF°. TOBFTBC BI IO 3TN IT;RDE BedC® DO
230 ABPOTB) F3,33 )T, FRCT TP FRTWITO3I 50, DEDT PRT 0TTT, 2w0T) edTed
RZ)B, W3OND. 1X3=3
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Jindal Vidya Mandir, JSW Hill Side Township
Jindal Vidya = Mandir We&kly Test'7 (2024_25)

Class: IX Duration: 45 min.
Sub: Hindi (Il Lang) Max Marks: 20
| G-

° wﬁﬂuﬁ%wﬁmaﬁaﬁ%
o UHiHfRTM I AuraTRAAw AT

wy 1. fRafefeEa ufda werisra) wm A v ok v o1 s -

it i1 Hid P1e B IR, T sheamT- e qu SIRTETS WIaufr ¥ vl Saret e 8 gean I
HA-gaT URH Ho(0 M & Uld g1 IHW 81 9ol §, I Siia & ey Hied, wafargef <ia ik onfde o %
vl €1 faorY & Tus B I Ud ofia &t Swa SHR § 3R o= e o) 3t Haa &) FRarar
oz 81 S7epT brod R Sffa ot e €t eiepiai Haffeq shia-aaf sriar <id-siiawr @ ol 2a1 2| gy shia
P STRTeT HRHI WEpd BT IS 3| Joreht & Prod & ool o1 3iFTifder, SR R 318007 0 € vope ga &1 7ey
g Bl bl BT UG Hea gu 2t ITHT ST YR e & Riae Jied &1y &, o 99, qu,
HEUN 3R WA 7 § SRIg0 F Iaewl 7ea! o SFTaT BT 21 I BT & 58 AN Pl & Tl e, S99 SR
W 51 Hd-didd &I Tuva i Feufka &R gwa €1 yisd S e ot siales HTa-aremT 1 59 HIa-geH &
aroft St YT & 3R Sl sy diufRrar &t Uit Sroeh rea-war &) -9 ok Ayafds AR R

1. TEIIRT & SMTUR R Ja1sy &1 oid gad! J fbas ufa Iae adre » 1
() HiTT-HTd &Y HfYeTeT B & Ul (9) Y=o Sita oA & ufd
() IR U Seu-Hy Sied YU & Ul (6) GBI S YU F URy

2. TR & SR, T & I fhges Ueiie & 2 1
(@) &ouT, X, G (@) waier, ufda, died () o, e, e (@) <, o, e

3. qoril & B1eA H 4 1 [ ISR ST U Ubhe gl g » 1
(&) SHTGR (F) 31&fuu ERICE @) gt

4. JAH &b BT H YR Siae B HIH-X T T SHebian oIed g3 & ? 2

5. gl = Higd BT 0= Sita 1 forg 3fiaRes Hia-areaTd wRIE 2 2

Y . Frafere vl 4 3 oI S vl & s ff@e - 3x1=3

1. O + ST Ted] & T I Y Teg 13T
2. FHIGT &g H forg Oty o1 o amg gen g 2
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3. ‘YU e, 1 I fawde T enm 2
4. SR A T 5% -3 M -3 F a1 T AT U A A G TR PI-8 TR BT A0 FRA B 2
uy . FPrafRifEa gl 74 58 S ugl & S 30 ¥ 40 T3 H forf@e- 2x2=4
1. T ol BT AT & 6 ofda ) oo et fesuras? ot anfa g, Tar e 2
2. FIeR UG % SMYR TR 1Y b1 Ueh 1Y YHIGR 3T SFHTERe TR & 5T T g 2
3. SIcTe Had ®I X&m gd 1 il 781 B urar ?
uy v. FPraffE vl 3 @ gl S well & 3R 50 W 60 rsai & AT 3x2=6
1. AfGHT BT e 3MH N H o forg e Har ur?
2. IS B F YR TR FATST b 31U dTels & Sict ! IF A & TTYIR P o/ Bl R Ff 2
3. firee o1 sl o ufenRepT bt ayffiepT AT T T 2
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-9 (2024-25)
Class :- IX Duration: 45 minutes

Hndat Vidya  Mandie

Sub: Painting ' Max Marks: 20

General Instructions:

e The question paper consist section A, B and C. Section A is objective, Section
B and C are subjective type.
e All the questions are compulsory.

Section- A
. Fill in the blanks with the suitable word. 5x1=5
1) The term composition Means, ......ccccevvvvvveveereerennnnn.
2) e, is the artist who aim to disrupt traditional composition and

challenge the viewer to rethink, balance and designs elements within the art

works.
3) Rangoli is an art form that originates from the .......ccocoeeeeeeeeveeeeeeeeeeeean
4) Rangolis do usually drop dUFiNG,......ccceuees coeeeeeeeeeeees eeeeeeeeee e eeeeees e,
5) Ancient people used ........................ | .. as their canvases.

Il. Match the following visual art forms given in the column A with the

column B.
A B 5x1=5
1) Warliart Lakshmi
2) Diwali Muruja
3) Nepal Tribal art
4) Odisha Kolam

5) Tamil Nadu Buddhism
Section: B
lll. Answer the following questions in two to three sentences each. 3x2=6

1) List the materials, we use to do rangoli art?
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2) Explain the reasons behind Rangoli art tradition in the houses. in Hinduism.
3) Give an account of Warli art.

Section: C

IV. Answer the following questions in detail. 1x4=4

1) Write a note on Panch Mahabhoota Seva.
OR

2) Explain the Mandala art in the context of Buddhism.
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v Jindal Vidya Mandir, JSW Hill Side Township

findal Vidya Mandir Weekly Test-10 (2024-25)
Class: IX Duration: 45 minutes
Sub: English Max Marks: 20

General Instructions:
e The question paper consists of 3 pages and 4 questions.
e All questions are compulsory.

I. Read the following passage and answer the questions that follow:
(5x1=5M)

Necessity is indeed the mother of invention. When areas in and around Leh began
to experience water shortages, life didn’t grind to a halt. Why? Because Chewang
Norphel, a retired civil engineer from the Jammu and Kashmir government, came
up with the idea of artificial glaciers.

Ladakh, a cold desert at an altitude of 3,000-3,500 meters above sea level, has a
low average annual rainfall of only 50 mm. Glaciers have always been the sole
source of water. Agriculture there is completely dependent on glacier melt, unlike
the rest of river/monsoon-fed India. But over the years, with the increasing effects
of climate change, rainfall and snowfall patterns have been changing, resulting in
severe shortages and drought situations. Given the severe winter conditions, the
window for farming is usually limited to one harvest season.

The artificial glaciers are located between the natural glacier above and the village
below. The one closer to the village and lowest in altitude melts first, providing
water during April/May, the crucial sowing season. Additional layers of ice ensure
a continuous water supply to the fields. As a result, farmers have been able to
manage two crops instead of one. The cost to create one artificial glacier starts at
about X1,50,000.

Fondly called the “Glacier Man,” Mr. Norphel has designed over 15 artificial glaciers
in and around Leh since 1987. In recognition of his pioneering efforts, he was
conferred the Padma Shri by President Pranab Mukherjee in 2015.

There are a few basic steps involved in creating an artificial glacier.
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River or stream water at a higher altitude is diverted to a shaded area of the hill,
facing north, where the winter sun is blocked by a ridge of a mountain range. At
the start of winter, around November, the diverted water is made to flow onto the
sloping hill face through distribution channels. Stone embankments are built at
regular intervals to impede the flow of water, creating shallow pools that freeze,

forming a cascade of ice along the slope. Ice formation continues for 3-4 months,
resulting in a large accumulation of ice, which is referred to as an “artificial glacier.”

1. What does the passage imply about Chewang Norphel’s motivation for creating
artificial glaciers?

A. To gain fame and recognition. B. To address the water shortage in Leh.

C. To showcase engineering skills. D. To transform the landscape of Ladakh.

2. According to the passage, how has climate change affected agriculture in
Ladakh?

A. It has improved agricultural conditions. B. It has caused unpredictable weather
patterns. C. It has led to an increase in rainfall.

D. It has resulted in severe shortages and droughts.

3. What is suggested about the cost-effectiveness of artificial glaciers?
A. They are too expensive to build.

B. They offer a cost-effective solution for water issues.

C. Their maintenance costs outweigh their benefits.

D. They are less efficient than natural glaciers.

4. What can be inferred about the impact of artificial glaciers on local farming?
A. They have limited influence on crop yields.

B. They have enabled farmers to manage two crops instead of one.

C. They are mainly used for non-agricultural purposes.

D. They have decreased the quality of the crops.

5. The passage includes some words that are opposites of each other. From the
sets (a)-(e) below, identify two sets of antonyms:

(1) Shortage and Abundance (2) Effective and Ineffective
(3) Retired and Active (4) Increase and Decrease

(5) Dependency and Self-reliance

(a) Option 1 and 2 (b) Option 2 and 3

(c) Option 3 and 4 (d) Option 1 and 5

(e) Option 4 and 5
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ll. Read the following points and develop them into a descriptive
paragraph: (1X5=5M)

= Barna—Born 1958, creative Tamil. the woman writer committed teacher,
social activist -popularly known as Karukku Barna

* Penname: Faustina Mary Fatima Rani

= Novels -Karukku, Sangati and Vanaman- translated into other.Indian
languages. English and French

»  Wrote twenty short stories — not published in book form

« Honorary doctorate degree — Crossword Award for her semi-
fictional autobiography Karukku

» Invited by universities in India and abroad —lecturer at various conferences

« Multi-faceted personality-woman with extraordinary courage. conviction
resistance to any form of oppression

= The keen eye for beauty in nature. profound insight into issues pertaining to
caste, religion, women, Clear thoughts and expression

» Dedicated to the uplift of the downtrodden: passion-Teaching. Mission —
Building a casteless society

Il. Read the extract given and answer the questions. (4x1=4M)

Every tinkle on the shingles

Has an echo in the heart;

And a thousand dreamy fancies
Into busy being start,

And a thousand recollections
Weave their air-threads into woof,
As | listen to the patter

Of the rain upon the roof.

1.How does this sound of the rain affect the busy mind of the poet?

2. What finds an echo in the heart of the poet?
3. Explain the metaphor used in “And a thousand recollection/Weave their air-

threads into woof.”
4. Which poetic device has been used in the last line of the stanza?
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lll. A. Answer the following questions in about 30 words: (3X2=6M)

1. Why did Einstein write a letter to Franklin Roosevelt? How did he react to the
bombing of Hiroshima and Nagasaki?

2. Hoe does Iswaran describe the uprooted tree on the highway? What effect does
he want to create in his listeners?

3. What are the Guru’s words of wisdom? How does he manage to save his
disciple’s life?
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-11 (2024-2025)

Class:IX /Sec Max.Marks:20
Name of the student Duration: 45mins.
Subject: Computer Application Date:

General Instructions:
* This question paper consists of 2 pages with IV main headings.

*All questions are compulsory.

l. Fill in the blanks. 4 X 1=4M
1. is a device used to connect two LANs or two segments of
same LAN.
2. is the smallest piece of information in an image.

3. The language processor that translates the complete source program as a

whole in machine code before execution is called

4. CUIl based operating requires the users to interact with it by typing

II. State whether the following statements are true or false. 4X 1=4M
1. Utility software are used to create animations.
2. Application program is used to manage the operation in computer.
3. Parallel Ethernet cable is used to connect a computer to a network switch,
hub in a network.

4. All types of communication media are used to set up a MAN.

lll. Choose the correct answer. 4 X 1=4M
1. is known as predecessor to the internet.
a.EDUNET b. Telnet c. USENET d.ARPANET
2. is used to connect a computer to a network.

a. Co-axial cable b. Optical Fiber cable c. Ethernet Cable d.Wi-fi
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3. Which one of the following is used to create multimedia file?

a.Quick Time  b. Word Perfect c. WinZip ' d.Maya
4. A computer software is a set of
a. program b. device c. research d.system
IV. Answer these questions. 4 X 2=8M

1. What is data encryption?

2. Write the use of Modem.

3. What are the functions of operating system?

4. How is PAN different from Internet?
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Jindal Vidya Mandir, JSW Hill Side Township
Weekly Test-12
Class: IX Duration: 45 minutes.

Subject: Social Science Max. Marks: 20

sindat Vidya { Mandic

General Instructions:
1. This question paper consists of 14 questions.
2. All questions are compulsory.

I. Choose the correct option for the below given multiple choice questions. 5x1=5

1. When was the ‘Bloody’ Sunday incident occurred?
a. 1905 b. 1917 c. 1904 d. 1914
2. Find the incorrect option.
a. Robert Owen was a leading French manufacturer.
b. Robert Owen built a cooperative community called ‘New Harmony’.
c. Louis Blanc wanted the government to encourage cooperative.
d. Louis Blanc wanted to replace capitalist enterprises.
3. Assertion: (A) The First World war on the ‘Eastern front’ differed from that on the ‘Western front’.
Reason: The soldiers of Russia did not want to fight this war.
a. Both Aand R are true and R is the correct explanation for A.
b. Both Aand R are true but R is not a correct explanation for A.
C. Aistrue butR is false.
d. Both are false.
4. Assertion: Elections in India are democratic. :
Reason: People have to choose the ruling party and the candidates approved by it.
a. Both Aand R are correct and R is the correct explanation for A.
b. Both A and R are true but R is not a correct explanation for A.
c. Aiscorrect but R is wrong.
d. AiswrongbutR is correct.
5. Assertion: (A) in Tibet, the Brahmaputra River, which is known as Tsango Po there, carries a smaller
volume of water and les silt.
Reason: (R) Tibet is a cold and dry area.
a. Both A and R are correct and R is the correct explanation for A.
b. Both Aand R are true but R is not a correct explanation for A.
c. Aiscorrect but R is wrong.
d. Aiswrongbut R is correct.

Il. Answer the following questions in brief. 5x1=5

6. Why were the peasants of Russia regarded as the ‘natural socialists’?
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7. Which river is well known as ‘Dakshina Ganga’?
8. Who proposed the concept of ‘April Thesis’?

9. When the Indus Water Treaty was took place?
10. Name any two fresh water lakes of India?

lll. Answer the following questions in 30 to 40 words. 1x2=2

11. Differentiate between the Himalayan River and Peninsular River systems® »
Or
Given an account of Civil War, that took place in Russia during 1918-1919.

IV. Answer the following questions in 80 to 120 words. 2x4=8

12. ‘Finally Russia turned into USSR.” Explain the statement with the suitable events and process.
13. Briefly analyse the drainage system of the subcontinent.
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i s Jindal Vidya Mandir, JSW Hill Side Township

# Weekly Test - XIlI (2024 - 25)
Class: IX Duration: 45 min
Subject: Mathematics Max. Marks: 20 marks

General Instructions:

e This question paper consists of 2 pages with 4 main questions.
e All questions are compulsory.

I Choose the correct answer: 1X4=4

1. Which of the following set of quadrilaterals has equal diagonals bisecting
each other?

(a) Parallelogram and rectangle (b) Rectangle and rhombus
(c) Rhombus and trapezium (d) Rectangle and square
2. In the parallelogram ABCD if 2C = 65°, then find 2B + £D.
(a) 180° (b} 115° (c) 230° (d) 155°
3. The line segment joining the mid-points of any two sides of a triangle is to
the third side and of it.
(a) Parallel and twice (b) Perpendicular and half
(c) Parallel and half (d) Perpendicular and twice

4. Assertion: The bisectors of the angles of a parallelogram form a rectangle.
Reason: Any two consecutive angle bisectors of a parallelogram intersect at right angle.

a) Both Assertion and Reason are correct and Reason is the correct explanation for
Assertion.

b) Both Assertion and Reason are correct and Reason is not the correct explanation for
Assertion.

c) Assertion is true but the reason is false.

d) Both assertion and reason are false.

Il Do as Direct 2X2=4
5. Prove that the diagonals of a rectangle are equal.

6. In the rhombus ABCD that diagonals AC and BD intersect at O, BC equals to 25 cm
and AQis equals to 24 cm. Find the length the of other diagonal.
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Il Answer the following 3X3=9

7. ABCD is a rectangle and P, Q, R and S are the mid points of the sides AB, BC, CD and DA
respectively. Show that the quadrilateral PQRS is a rhombus.

8. The diagonals of a rectangle ABCD intersect at O. If the ZBOC is equals to 44°.
Find the angle £ODA.

9. ABCis an isosceles triangle in which AB = AC. AD bisects .
exterior angle PAC and . P
CD|| AB. Show that: (i) £DAC = ~BCA and
(ii) ABCD is a parallelogram.
B C
v CASE STUDY: 3X1=3

Due to frequent robberies in the colony during
night. The secretary with the members together
decides to attach more lights besides the street
light set by municipality. There are poles on which
lights are attached.

These 4 poles are connected to each other
through wire and they form a quadrilateral also

the wire from A to C and B to D are crossing

Pole A

perpendicularly at ‘I. Light from pole B focus light
on mid-point G of wire between pole C and B, from H
polé C focus light on mid-point F of wire between
pole C and pole D. Similarly pole D and pole A focus pole B Pole D

light on the mid-point E and H respectively.

Using the above data answer the following Pole C
guestions:

1. If BD is the bisector of £B then prove that ‘I’ is the mid-point of AC. [2M]
2. Is it true that every parallelogram is a rectangle? [1M]
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